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AL H] Al dA 15,500 15,500
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A+ Bl W= ALG H] 37,000 37,000 0
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- - - TE | ARnzZ | A¥YF | FUP A
AR Q1] e of 4 261,606 0 0 261,606
A4k 218,222 0 0 218,222
=4 43,384 0 0 43,384
Al of 4 55,771 0 0 55,771
A4k 45,064 0 0 45,064
=4 10,707 0 0 10,707
HAs 9 of 4 24,294 0 0 24,294
HAAHS ALk 19,064 0 0 19,064
=4 5,230 0 0 5,230
A2 R of 4 28,571 0 0 28,571
e ALk 22,974 0 0 22,974
=4 5,597 0 0 5,997
71} of 4 2,200 0 0 2,200
FA73H ALk 2,200 0 0 2,200
z7 0 0 0 0
Q1] 4A of 4 372,442 0 0 372,442
A4k 307,524 0 0 307,524
=4 64,918 0 0 64,918
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TREsp|E | RS ALGH] | o2t 40,054 0 40,054
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AFgH| =7 16,366 0 16,366
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At 34,100 0 34,100
=% 0 0 0
olFAAE | ot 36,430 0 36,430
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B =2 0 0 0
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A 0 0 0 0
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